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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [["I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, ’'optETcl’],

"LAI",

" optEtRate’ ]
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Plot [[ setVI _ETcl’

"setVI _fgRec’,

"setVI_VN',

"s1SetVI' 1]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Warning: lcol ['ECB’,| 'ECC’'] missing
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Warning: lcol ['PHB’,| 'PHC’'] missing
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P3-2
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21t 2457.0 (90%) 1170.0 3 WHKEC: 2080.0, PH: 6.0

EREBRK (278) S5TREA (241. 0) R, FIREM T & WEIEIRS X XER

2RI\ PRIERE150. 0 ml.
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FRV (ml plant-1)
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ET (ml/hr/plant)

P3-2_0, Day=47 (2025-05-15)
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Warning: lcol [FVI',| "FVO’'] missing
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Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing

]
Bylnit @D50 0?:20: ET=853 Fg=1420.0 Ro=620.0
- 2000
200 -

—@ ) - 1000

cumET (ml/plant)

1
1
1
I
|
1
100 1
|
1
1
1

2—2 —
0 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

E3 E3 ES ES E3 E3 ES — — ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES
i H5 H5 i i H5 FREESRES N G 5 5 B 5 5 5 B 5 A B 5 G A

1
200 1 ByFt @47 18:57: ET=967 Fg=1748.0 Ro=nan o

1

1

- 2000

100 - 1000

cumET (ml/plant)

Y e S——— — ———
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
B | B | B B|B[I[B[B|[zx[2x]| B E | BB | K | KB | B | B | B |KB|E[KF[Z25[%25] B |

200 1 ByWoFv @D50 08:20: ET=924 Fg=1170.0 Ro=315.0

- 2000

100 - 1000

o
@
@
cumET (ml/plant)

ET (ml/hr/plant)
_———————S-

1'0_tj__LL:_’ 44 = e B 0

0.8

0.6

0.4+

0.2~

0.0
1500

|
[ ] | _obs
—@— PPFD obs

1000 ~

500 -

34 o {w ® VP
"/\ .




30.

30.

29,

29.

28.

28.

33.

33.

32.

32.

31.

35.

35.

34.

34.

T T T T
700 800 900 1000

m=660,m FV0=0

T
600

—o— M_E

L

T T
660 665 670

m=835,m FV0=0

—o— M_E

\

835 840 845

m=985,m FV0=0

—o— M_E

=

990 995

25.

25.

25.

25.

25.

33.

32.

32.

31.

31.

30.

30.

34.

33.

33.

32.

32.

40.

37.

35.

32.

30.

27.

m=570, FV0=0

—o— ME

5%5 5é0
m=690,n FV0=0

T T
690 695 700

m=880,m FV0=0

M_E

01 —o—

880 885 890

(&} o (&} o [3)] o
1 1 1 1 1 1
g 3

—— MW

800 900 1000

m

600 700

26.

26.

26.

25.

33.

32.

32.

31.

31.

35.

34.

34.

33.

33.

32.

m=600, FV0=0
41 —o— M_E
2 -
0 -
8 -
660 665 650
m=745,m FV0=0
o4 —e— ME
5 -
0 -
5 -
0 -
755 750 7%5
m=915,m FV0=0
07 —o— M_E
5 -
0 -
5 -
0 -
5 - T T T
915 920 925
m=570,m FV0=0
38 1 - MW
36 -
34 -
32 -
30
28 -
26

570

575

580

27.

21.

217.

27.

27.

26.

33.

32.

32.

31.

31.

35.

35.

34.

34.

m=630, FV0=0
g ~® ME
6 .
4 .
2 .
0 .
8 .
630 635 640
m=795,m FV0=0
07 —o— M_E
5 .
0 .
5 .
0 .
795 800 805
m=945,m FV0=0
5] —@— ME
0 .
5 .
0 .
945 950 955
m=600,m FV0=0
40 —o— MW
38
36 |
34
32
600 605 610




m=630, FV0=0

—— MW
40 -
38
36
34
T T T
630 635 640
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Bfig) | JEBATE (7)) | ERE (AR | KR e

12:25 273 130.0 FA| 1BRig@12:25 B3h (RABERE)
13:05 273 130.0 (& =| 1Ri%@13:05 Bzh (KRAHEESE)
13:45 273 130.0 (ZZ=| {Rige13:45 B (GRAHRESE)
14:35 273 130.0 (& =| 1Ri%e14:35 Bz (GRBHEREE)
15:25 273 130.0 (& =| 1BRige15:25 Bzh (REERESE)
Hit]1365.0 (5%) 650. 0 32 KEC: 2080.0, PH: 6.0

EREBRK (273) S5TEA (232. 0) R, AIREM T % W@REIERS X XER

ZRIALPRIERE153. 0 ml.

REREEBEEC (2700.0) 5% TEEC (2000.0) REK K, HHEE

##[EKECE (2700.0 vs 3985.0) RS




FRV (ml plant-1)

ET (ml/hr/plant)

ET (ml/hr/plant)

P3-2_0, Day=46 (2025-05-14)
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Warning: lcol [FVI',| "FVO’'] missing
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Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing
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Warning: lcol ['PHB’,| 'PHC’'] missing
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